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SCARF
Using 8.00mm (US L11) crochet hook 37 ch. 
Foundation row (RS): 1 dc into 2nd ch from 
hook, *1 ch, miss 4 ch, (1 dtr, 2 ch, 1 dtr, 2 ch, 
1 dtr, 2 ch, 1 dtr, 2 ch and 1 dtr) into next ch, 1 ch, 
miss 4 ch, 1 dc into next ch, rep from * twice 
more, 1 ch, miss 4 ch, (1 dtr, 2 ch, 1 dtr, 2 ch 
and 1 dtr) into last ch, turn. 31/2 patt reps.
Now work in patt as folls:
Row 1: 1 ch (does NOT count as st), 1 dc into 
dtr at base of 1 ch, *3 ch, miss (2 ch and 1 dtr), 1 tr 
into next ch sp**, 2 ch, miss (1 dtr, 1 ch, 1 dc, 
1 ch and 1 dtr), 1 tr into next ch sp, 3 ch, miss 
(1 dtr and 2 ch), 1 dc into next dtr, rep from * to 
end, ending last rep at **, 1 ch, miss (1 dtr and 
1 ch), 1 dtr into next dc, turn.
Row 2: 7 ch (counts as 1 dtr and 2 ch), miss dtr 
at base of 7 ch, (1 dtr, 2 ch and 1 dtr) into first 
ch sp, *1 ch, miss (1 tr and 3 ch), 1 dc into next 
dc**, 1 ch, miss (3 ch and 1 tr), (1 dtr, 2 ch, 
1 dtr, 2 ch, 1 dtr, 2 ch, 1 dtr, 2 ch and 1 dtr) into 
next ch sp, rep from * to end, ending last rep at 
**, turn.
Row 3: 6 ch (counts as 1 dtr and 1 ch), miss 
(dc at base of 6 ch, 1 ch and next dtr), *1 tr into 
next ch sp, 3 ch, miss (1 dtr and 2 ch)**, 1 dc 
into next dtr, 3 ch, miss (2 ch and 1 dtr), 1 tr into 
next ch sp, 2 ch, miss (1 dtr, 1 ch, 1 dc, 1 ch and 
1 dtr), rep from * to end, ending last rep at **, 
1 dc into 5th of 7 ch at beg of previous row, turn.
Row 4: 1 ch (does NOT count as st), 1 dc into 
first dc, *1 ch, miss (3 ch and 1 tr)**, (1 dtr, 2 ch, 
1 dtr, 2 ch, 1 dtr, 2 ch, 1 dtr, 2 ch and 1 dtr) 
into next ch sp, 1 ch, miss (1 tr and 3 ch), 1 dc 
into next dc, rep from * to end, ending last rep 
at **, (1 dtr, 2 ch, 1 dtr, 2 ch and 1 dtr) into last 
ch sp, turn.
These 4 rows form patt.
Cont in patt until scarf meas approx 280 cm, 
ending after patt row 1 or 3.
Fasten off.

MAKING UP
Press as described on the information page. 
To form hood section, fold scarf in half lengthwise 
and join one row-end edge from folded edge to a 
point 32 cm away from fold.
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Yarn
Thick ‘n’ Thin

10 x 50gm
(photographed in Munroe 983)

Crochet Hook
8.00mm (no 0) (US L11) crochet hook

Tension 
2 patt repeats to 18.5 cm and 6 rows to 14.5 cm 

measured over patt 
using 8.00mm (US L11) crochet hook.

Finished Size
Completed scarf is 32 cm (121/2 in) wide and 280 cm 

(110 in) long (including hood section).

Crochet Abbreviations
ch = chain; dc = double crochet; dtr = double treble; 

sp(s) = space(s); tr = treble.

C O L T

b y  L i s a  R i c h a r d s o n

NECKLACE
First loop
Using 8.00mm (US L11) crochet hook and yarn 
A, make a length of ch 55 cm long and join with 
a ss to form a loop.
Next round: 1 ch (does NOT count as st), now 
work in dc into loop until base ch is completely 
covered, packing sts closely together and ending 
with ss to first dc. (Note: These sts will stretch 
the length of ch so that it will now meas more 
than 55 cm.)
Fasten off.
Second loop
Mark points along outer edge of first loop 12 cm 
either side of fasten-off point (so marked points 
are 24 cm apart).
Using 8.00mm (US L11) crochet hook and yarn 
B, attach yarn with a ss to one of these marked 
points, make a length of ch 40 cm long and then 
work a ss into other marked point, turn.
Now work a row of dc enclosing this ch, packing 
sts closely together and ending with a ss into 
point where yarn B was attached.
Fasten off.
Third loop
Using 8.00mm (US L11) crochet hook and yarn 
A, miss 2 dc after point where second loop is 
attached, attach yarn with a ss to next dc, make 
a length of ch 55 cm long and then work a ss 
into dc near other end of second loop, leaving 
2 dc between this joining point and end of second 
loop, turn.
Now work a row of dc enclosing this ch, packing 
sts closely together and ending with a ss into 
point where yarn A was attached.
Fasten off.
Fourth loop
Using 8.00mm (US L11) crochet hook and yarn B, 
miss 2 dc after point where third loop is attached, 
attach yarn with a ss to next dc, make a length of 
ch 70 cm long and then work a ss into dc near 
other end of third loop, leaving 2 dc between this 
joining point and end of third loop, turn.
Now work a row of dc enclosing this ch, packing 
sts closely together and ending with a ss into 
point where yarn B was attached.
Fasten off.

MAKING UP
Press as described on the information page. 

Yarn
Thick ‘n’ Thin

Yarn A  Cairn 978
1 x 50gm

Yarn B  Fell 974
 1x 50gm

Crochet Hook
8.00mm (no 0) (US L11) crochet hook

Tension 
Based on a dc fabric tension of 91/2 sts and 12 rows to 

10 cm using 8.00mm (US L11) crochet hook.

Crochet Abbreviations
ch = chain; dc = double crochet; ss = slip stitch.

C O R V E T T E

b y  L i s a  R i c h a r d s o n
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